A

WAGNER

WZ13-150EX 1I

AARED

IC40066A

2023.12

T - P = AN AL (e IR /Y o/ S B

Ik -



WZ13-150EX 1I

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

2

POS R B BoE|  Eff ik
1 | 2112380 |[7L—2A_—2 1 27,300

2 | 2112381 |/~ Rv 1 14,700

3 | 2112382 |Hifiii¢ 195 2 5,200

4 | 2112363 |E[E" 2 150{ ¢ 2.5 X 25 + SUS
5 | 2112111 |*EU v +— 4 250 ¢ 16

6 | 2112383 [AZLR= L 1 630

7 | 2109586 |77 USRIV 1 270|M8

8 | 2112364 [/ME U F vk 1 270

9 | 2109585 |7T U ASARILE 2 150|M8 X 35

10 | 2109500 |77 ffNfAT vh 6 270|M8

11 | 2109405 [HER/LH 2 270/M8 X 40

12 | 9921501 (AT V27T p— 2 180[M8

13 | 2109406 |HEF b 2 150|M8

14 | 2112365 |Fvyv7 2 150| ¢ 7.5 X 20

15 | 2112368 [BhfE= 2 - FH 1 1,700

16 | 2112367 [BhfE= A - E0 2 1,800

17 | 2112384 |/INEAR/LE P3 2 150|M8x16

18 | 2112385 |&Rv 7L —/L 1 5,200

E01 | 2112388 |RoH v 1 180,000|GP200HQH]

E02 | 2112389 |¥%— 1 1,200

E03 | 2112390 |7 =2—= /L7 (/L4 1 1,600

LC40066A

2023.12




A

WAGNER

WZ13-150EX 1I

VITRUVEEKX

o
AY

=T

)\ ‘

N AN /
Qoo

,)//( / /
AN -/

N

[C40069A

2023.12

G B v AN AL e AR /Y 2L S I

=]
SRS

A -



WZ13-150EX 1I

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

4

POS R 4 B TEAM k=3
1 2112200 |@&)JER T 1 210,000{XMV3.0G30D
2 2112249 |V TS5 1 5,900|R1/4F
3 2115555 |JE )&l « SriA 1 13,400[ ¢ 63-30MPa
4 2112350 |[7ra—& 317 1 58,200|3CCR
6 2118067 |H7F— /b 1 4,400[SUS3/8F
7 2112386 [AAAZTILAR 1/4 1 2,600
8 2104683 7w s 1 1,000{R3/8M X R1/4F
9 2112332 |HEh=T —Hhx | i 6 1 9,000
10 | 2240002 |[R—AR 25 1 730{17 ~ 25
11 | 2103343 |[T4— - A 1 2,500
12 | 2103037 |=v 7L 1 910|R3/8 BSBM
13 | 2112387 |AAAZT/LIR 3/8 1 3,500
14 | 2112391 |[/SANZF—ZA 1 7,500
15 | 2103035 |=/LaR 1 5,600|R1/2 « BsBM
16 | 2112069 |W/AKAO=v7 L 1 3,200
17 | 2112151 |0V 1 150[14.00 X 1.78
18 | 2150010 |FALARL—F— 1 3,200(3/4
19 | 2112086 |ARUFyy 1 270
21 | 2112114 | 3% 4 150/ ¢ 8
22 | 2112266 [/MEARLK 4 150[3/8 X 20
23 | 9904409 |[ANANASTTFS 1 500|R1/2
24 | 2112081 |RUFyv~ 1 270|3/8
26 | 2112267 |y ZF vk 1 1,700[1/2 + BsBM

L.C40069A

2023.12




A

WAGNER

WZ13-150EX 1I

>~ 7 [XMV3.0G 30G](PN 2112200)

o
\

=7

IC40036A

5

2023.12

G B v AN AL e AR /Y 2L S I

=]
SRS

Ik -



WZ13-150EX 1I

A
WAGNER

POS R B B JEA k=
1 2112109 |0 V7 6 150[17.86 X 2.62
2 2112201 |\ 7 757 6 5,400
3 2112124 |7V 7 6 2,000
4 2112125 |0V 6 150{15.54 X 2.62
5 2112202 |75 1 650
6 2112203 |HHR—R) o 3 350
7 2112204 |@&JET—v 3 4,900
8 2112205 |3 —VT4F— 3 2,600
9 2112206 |7T20/r—A 1 60,700
10 | 2112132 | RHB N— 1 1,800
11 | 2112133 |[RFvFU s 1 650
12 | 2112207 |ZFvFVUs 1 270
13 | 2112208 |_X7U2 1 10,600
14 | 2112209 |TA4vT AT 497 1 3,100
15 | 2112210 | 7T % —HARE 3 910
16 | 2112211 |0V 1 650| ¢ 106 X 3
17 | 9900325 |/ AR VR 6 180|M6 X 16
18 | 2112212 |UTo0/r—AH/R— 1 10,100
19 | 2112213 |=rmyR 3 12,800
20 | 2112214 |7 T0 Vv —HAR 3 8,300
21 | 2112141 |0 Vv 3 150[4.48 X 1.78
22 | 2112142 |RUH—Vo 7 3 270
23 | 2112215 |70y — 3 14,000
24 | 2112023 |Uvip— 3 270(8 X 13 X 0.5
25 | 2112022 |7FoPv—F bk 3 650
27 | 2112151 |O Vv 2 3 150[14.00 X 1.78
28 | 2112216 |75 3 780[3/8
30 | 2112131 |AAL>—1 3 1,500[15 X 24 X 5
31 | 2112217 (U7 —>—nNUTF ) — 3 1,700
32 | 2112218 |0V 3 150[23.52 X 1.78
33 | 2112219 [{KEI—L 3 1,500
34 | 2112220 |97 1 1,800|1/2
35 | 2112154 (O Vv 1 270[17.5 X 2.00
36 | 2112221 |ARoF~vR 1 72,300
37 | 2112222 (Vv y— 8 270
38 | 2112121 |/NA7USTHRILE 8 780|M6 X 60
40 | 2112158 |=—RA_X7U 7 1 7,600
41 | 2112162 |AF v AV 1 2,700
42 | 2112156 |A AL —)L 1 2,700[140 X 50 X 7
44 | 2112223 |JSFUEFRIVE 4 150
67 | 2112224 |/ASANAFIEDRAL 1 270
69 | 2112225 |(7Fv 7 %7k 1 79,100
70 | 2112226 |7To 1 15,300
71 | 2112032 |A ANV AT TR 1 650
72 | 2112031 |ATARIZ 1 400
73 | 2112227 |[AANYVARTTA - /) 1 270
74 | 2112146 OV 1 270/20.24 X 2.62

fIAk - dn - MRS T ERKER T 2ENHYET,

6

LC40036A
2023.12




WZ13-150EX 1I wAENER

7oAa—4—/\)L7J (PN 2112350)

1C400062A

7
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.12



WZ13-150EX 1I

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

8

POS T rnh H= TEAM ik
1 2112271 |77 1 400
2 9900318 |/SF /AR 1 360[M8 X 20
3 2112272 |NAF vk 1 150|M8
4 2112273 %k~ 1 910
5 2112274 |&°v 1 650
6 2112275 |F¥EF b 1 16,400
7 2112276 ATV T HAR 1 14,700
8 2112277 |(AFV 7T —h 1 5,800
9 2112278 |JEJJFHHEEAR TV 7 1 2,000
10 | 2112279 | AT AR —h 1 1,300
11 | 2112295 [ 1 2,200
12 | 2112296 |7 >/ 3—E AR 1 9,400
13 | 2112282 |0 U2 1 150
14 | 2112283 | X7 w 7Y 1 270
15 | 2112284 |0 V2 1 270
16 | 2112285 |F =y 317 1 3,500
17 | 2112286 |F =7 VT ZAF YT 1 780
18 | 2112154 |0 V2 1 270[17.5 X 2.00
19 | 2112297 |77 L hTT7 Assy 1 4,300
20 | 2112298 [O Vv 1 150| ¢ 11.91 X 2.62
21 | 2112289 [T RT 4 1 17,700
22 | 2112290 [N T TV 1 520
23 | 2112141 [0V 1 150/4.48 X 1.78
24 | 2112291 [— 3w 1 2,300
25 | 2112292 [m—U—E Rk 1 12,500
26 | 2112197 [O VU7 1 150{17.17 X 1.78
27 | 2112293 |»NL7 v —bh 1 8,300
28 | 2112299 [0V 1 910[ ¢ 11 X 1
35 | 2112294 M7 47407 1 5,200
LC40062A

2023.12




WZ13-150EX 1I wAENER

% - RIKHBE—R

2
1D40002B
POS g 4 B TEAM ik
1 2116160 |WAKAF—=A 1 14,700(G3/4 X 3m = O Vo2 f+
2116023 (O V2 (1) 270|P16 + G3/4
2116021 |0 Y2 (1) 270[P12.5 + G1/2
3 2116151 |§AKAR—=A 1 5,900(G3/8 X 3m + O V7' fF
4 2116022 (O V> (1) 270[1A - 6 X 3
5 2116320 |[ARL—F— « P 1 4,200|G3/4F
L.D40006B-2
9

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.12



